This Question Paper consists of 32 questions [Section-A (22) + Section-B (5 +5)] and 11 printed pages.
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General Instructions : B0

1 Candidate must write his/her Roll Number on the first page of the Question Paper. OE)

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 55/ASS/3, Set—A on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for any
errors/mistakes in understanding the question will be yours only.
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ENVIRONMENTAL SCIENCE (Theory)

e e ()
(333)
Time : 3 Hours] [Maximum Marks : 80
L IR LC] [qori : 80
Note : (i) This Question Paper consists of two Sections, Section 'A' and Section 'B'.

(ii)) Al the questions of Section 'A' are compulsory.

(iii) Candidates are given a choice in Section 'B'. They are required to attempt
the questions from either "Option I" or "Option II".

(iv) Maximum marks of each question are indicated against it.

fRa: () @uH = A gs & - @8 ‘9 qam g@E T |
() @ve ‘o A fw m wl wew aifad ¥ |§§-§
(i) @ @ ¥ feu U oo qHE &% Ok Uk fowed ¥ W U &k v § |
(iv) Y% 99T &% ok A fau T |

SECTION - A

gog — A

1 What happens to the Lion when all the green plants and trees are removed 1
from the forest ? %%‘E‘

o o A @ w0 ek s P Ru W@ ¥ A ST @ @ @ ?

2 Mention any three factors which force the villagers move into cities. 1

IT dF B B T BN [T HROT AT T Bigh B0 § 9 o d & 7
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3 Which was recommended by the Montreal convention and protocol as a substitute 1
for CFC ?

CFC &% U®h @MY~ & &9 ¥ Hiiead g9a" oiX fasitd (protocol) ET fehaant

st @ ot 7 R

[=

4 Give two examples for high yielding dwarf wheat varieties. 1

g @ I=d SUSATEl Sl Rl % W SR Fany |

5 Write one difference between paleolithic age and Neolithic age. 2

QO SR TquEel G H Uh sfdx SRy |

6 Mathew is shocked by the TV news in the clearance of ten thousand trees to 2
construct the new airport and as a result he planted twenty thousand plant saplings
along with his friends. How does the clearance of trees will result in soil erosion ?

Heg % &I W ge GAER g1 & 18 9&HT @ 6 T 'ElE SfET W %
T 39 s g&al & e H THEAT HT A T | 396 gE Iad ofad Frl
% a1y et 99 TR die @l | WHl B Bl B GHET B WX (RE Td

]

YET- IR w7 ks

7 Classify the following into Biotic and Abiotic components : 2
Nitrogen, Cyclops, Sparrow, Amino acid, Penicillium and Humidity.
frfafad ®f Sta ok s disi # i @i
TSI, WEFAr, g (afear, oMl ofd, Uirafaad ST Sisdr |

8 Expand the following : 2
frfafaa & g ™ fafeg -
(a) WWF
(b) BMC
() NBA
(d) CITES
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9  Differentiate between anthropocentric and eco-centric environment. 2

AIhEd S AIehrad qarExer ¥ sfat SRy |

10 What is meant by village forests ? 2

IO 99 SRl T iy &P

11  Define carbon tax. 2

Wwﬁqﬁwm%ﬁqqlgﬁg

12 Expand CSE and mention two of its important publications. 2

CSE @1 g1 7™ fafey, X 386 « Aoyl WmleMl @ =i &g |

13 Give reasons for the following : 4

(a) Density of tiger, leopards, lions, deer etc. is determined by the pugmarks left

by the animals in a defined area.

(b) Primary succession takes at very long time as compared to secondary

. . . EaE
succession which is very fast. aﬁ%
f=fafad &1 dRo 9aRy

(a) drar, 99, SR, BRI &I EAar @ gRer e @ita & 9 3T Siget 3
B MU ug faeAl ¥ fem smm ¥

(b) Tadioe STIHAT qga A9 MG § O ¢, ST SHa oTUa WreIfh ST

gd G99 @A 5 |
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14 Raveena is a research student. She goes to her uncle's village for her research 4
work. In the village she saw that her uncle is using DDT as pesticide and his
farm is closer to an electroplating industry which releases cadmium. Raveena
goes and educates her uncle about ill effects of DDT and cadmium.

(i) Name and explain the biological phenomenon associated with accumulation

. s EEE
of DDT in the food chain. ”@E%

(i1)) Write the causes and effects of cadmium.

AT Th MY BET ¢ | 98 U4 MY HE % [ 9T 9rel % W Sl |
Mg ¥ I Q@I 6 STh AT BT TWET & &9 § DDT &1 SKHA &I & S&ih
I O UH U TOHRIQRT HE O SEr % WY & Reg o1 s hshrm @
IS HIAT AT | TWHET SO 9T % U T iR DDT T hehem % gWHmal
% IR A guFmn |

(i) wE-gEar ¥ DDT & THHE & W & BRO eF aral g 9iaer &1 =M
IART qUT SEH AT BT | E@E

(i) HSHEA & BN X ITH BN o A @ T=l BT |

15 (i) In the following figure, the rise in temperature from the year 1880 to 2050 4
is shown. How will you name this temperature rise and explain this
environmental issue.

06 Global Mean Surface Temperature

——annual mean
—b5-year running mean
I uncertainty

0.4}

Temperature Anomaly (°C)

1880 1900 1920 1940 1960 1980 2000
Year
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(i1)) How acid rain does promote the heavy metals to affect the metabolism of plants

and microorganisms ?

() T feu o fosr ®, ad 1880 & WepY Ay 2050 T B TG ATAH—gHg BT F91T
T | 39 AOHE-gRS BN ST F1 T4 < qAUT 386 e A GhEROnd Ie bl
T dfTT | g

06 Global Mean Surface Temperature

——annual mean
=—b5-year running mean
T uncertainty

0.4}

Temperature Anomaly (°C)

1880 1900 1920 1940 1960 1980 2000
Year
(i) o aul & HRO A oaigstt B F goEr fraar ¢ fee @rer dgf
3R gewsiifadl & SUMEd 9X YWiE USdT § |

16  Energy conservation has been recognized as a national issue for long time. 4
As a responsible citizen of India, how would you consume energy for various
o e, . . ‘-) EE
activities of your daily life ? ”ﬁ%
FHol—HREA BN TS T TH UL GET THT Il @ § 7 R b Uh AR
AN B9 & A, oY oTUY g Siae & farq= fshamparal & T et @1 frd

Y i
ThX TEHW hl 7
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17 (i) Explain how excess of chemical fertilizers will result in algal blooming. 4

(i1)) Mala and Rama both are living in the same village. Mala burns wood and cow
dung as a fuel for basic necessity. But Rama prepared bio gas from bio waste.
If you compare both Mala and Rama, you will prefer who is the better and why ?

(i) ETEE IATHI BT ATD TART B b TNOMHEEY e a1 STard-—Jehe ol
e Hif | e

(i) ¥ X AT TS & M H @l & | /AT TUAT TAYA STasaharali & g Tehs!
3R MeX @ 389 & ®U H @l & | AfpT T o9 Sl ¥ Sa-T9 qur
HTAT & | FTQ 7T AT S AT Bl JAT BY, Al Y e Fgat AT i F=&i 7

18 (i) How will you differentiate the three types of iron ores ? 4
(i1)) Define Bio-mining. Why it is economically feasible ?
() &MU dF YR & e SF@ H T H Hal 7
(i) o9 Sg-@=q @ giewrn fafegw | onfde e @ o' @& d@va T 7

19 (i) The picture below shows different insects like Lacebug, White Grub and 6

Shoot Moth larva feeding on different parts of the same plant. %ﬂé‘

Serpentine
leaf miners

o ) ! —
74 VD

Root-feeding white grub

What does this picture depict ? Explain.
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(i) Distinguish between :
(a) Estuaries and Deltas

(b) Western Ghats and Eastern Ghats %_%ﬂ

(i) = fu W fax ¥ fafr= @ gt U € 9 @9e, ®E2 79, S OAY
H ARG, S TH A N & AP wmn ¥ oo Hiew wew w W@ ¥

Serpentine
leaf miners

; X

Root-feeding white grub

T o = ogaar ¥ 7 e @it | omgm
=t

(i) Frfafgd o ofdy ARy :
() TR @ R S
(b) ulEd =T IR & HE
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20 (i) “Urbanization and industrialization produces colossal quantities of waste.” 6

- Justify this statement.

(i1)) Discuss why slash and burn method of farming causes deforestation.

(iii) Mention any four states of India which still practices shifting cultivation.

(i) ol X SfErihu & B Jgd ds! AT H YR I & ST
T - 3@ BT B gRe HT |

(i) Sl @ gAEIY iR S a9ty % BT = = 8 ST & 7 =9 dl S |
(iii) WIS &b BIF TH T Y9N BT i@ BT STl STl W WHA Jarg bl

aﬁ%|§%@

21 (i) State any four sources of CFC.

(i) How the presence of CFC in atmosphere will damage ozone layer ?

(iii) Write any two consequences of ozone layer depletion.

(i) CFC % &3 9” &al & W Sa8e |

(i) dm@aERe § CFC @ A & ®RO S| uXd & A & s ?

(iii) oMM 9Xa & e & @iz @1 afom fafRaw | %%E'

22 You went to an education trip by bus. You visited an industrial area along 6

with its new construction site, power plant and central hospital. Your bus was
stopped at the hotel for refreshment and then you left from there. Classify all
the wastes that you generated and observed there into different categories.

T 99 T T AT FHOT U T | 394 Teh Sfefimen & <@r g 7 fmfor-
WA, M- iR HsT Sruard &l 9l 3@ | U] 99 7194 & [ Th Bled
X BB S A b UE g & 9@ U | onw fafr= wet w9 srafimed
H IO fpaT MR <@r e fafy= gfrl o it @i |
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SECTION - B

gE — q
OPTION -1
e - 1

(Water Resource Management)

EEiGEIEE I ERE))

23 How does alum help in water treatment ? 1

S % U H Reehll B9 wewdl sl ¥ 7 @n

24  Write the factors deciding the movement rate of ground water. 1

ol & A< B T B I HRH 9d5e |

25 What is the role of potassium in the nutritional management of crops ? 2

W%W—Wmﬁﬁ%&mﬁwqﬁwﬁ%?%

26 Name any four non-porous materials which are used to prevent the evaporation 2
of crops.

B U Y ST Bl UbT b fou Rl AR el wardf % A wdmw |

27 On a visit to Taj Mahal - Agra during monsoon, Sam found river Yamuna 6
behind it. When Sam alongwith his friends approached the river shore, they
found many dead fish varieties along the shore and they also witnessed the
foul smelling river water. On the other shore they found enormous industries.

(a) What is the reason behind the foul smell of the river water ?
(b) Why the fishes lied dead on the shore ?

AT & IR ST Rerq dromed @1 9O BRd 5T, ¥ 7 I9H GBI G
® @ | e S % |y, 89 99AT-aC % |99 Ugdl | 981 aC % fBAT-feh
S W g3 oMe Wsfadl <@, dO1 A4 6 U ¥ ¥ o W gy @ W qeqd
frar | T % g e W SR o dREml @ Hl @ |

(@) Wl H ¥ o W FY & R BRT AW O?
(b) T & fp W Aufaal ®& T8 wEof 7
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23

24

25

26

27

OPTION - II
e A | |

(Energy and Environment)

(S @ )

What happens if you are using ethanol as a fuel additive in your car ?

T BAT & W MU AU HIX & AT 399 H A HeThy IEHTE Bid & 7

State the process which converts the biocrude into gasoline, oil and kerosene.

39 UiRAT B AM FA3Y S STUNSp AW di i, aa ik BEr % ad A
e Il § |

Biomass energy is renewable - Justify.

W(Biomass)wfﬂiﬁmuﬁﬂﬁ%—g&ml

How air is different from wind ?

a@aﬂTWﬁWw|§§§

(i) You are an owner of a leading factory. You want to save money by
conserving energy. Suggest some simple ways to save energy in your
factory.

(i1)) Do you think hydrogen will become a major source of energy ? Give reasons
for your answer.

(i) o9 UH T Heed F Aias ¥ | oMU SHel-EEu g Y| g9 ared
g1 O Hed ¥ Tl SOM % PB AX@ qddl Bl gIE qeg |

(i) oMY w1 Wad & 6 FESoM ol & U6 W@ 9d 99 S 7 ofu 39X
% AL ¥ RO AT |
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